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HEKT T 304 274 176 158
&5t T 410 369 192 172|410-192=218 7 +(N)
=) 0 0 0 0[0-0=0 7%+ (N)
FEL
TiE T8 N C
A UIEHE T® 5 5
A—THRHE T 0 0
REEE T 19 17
EiREE + :I:jﬁ‘ 218 196
a 0 0
&t T# 242 218
mm =] L
a 0 0
WEL
TiE T8 N C
RIAREL T 23 21
IRIREEL T 28 25
L T 0 0
&5t 51 46
EE(N) T8 242-51 191 m3
= 0 m3




EE+T T T % & 5t & £
) 5 BS 96 B J#’c)]#Eﬁll(:t)‘ 71-—7"/?@%'1(4:) B EHE A ‘ ‘
BOE FHNE X% B N OETHNE N 2 K O FHNE K 2 B B FHNE X 2
No. 6 0.0 0.0 2.7
No. 6 + 10.000 0.0 0.00 0.0 0.0 0.00 00 1.7 2.20 0.0
No. 7 0.0 0.00 0.0 0.0 0.00 0.0 1.8 1.75 0.0
No. 7 + 10.000 0.2 0.10 0.0 0.0 0.00 0.0 20 1.90 0.0
No. 8 0.9 0.55 0.0 0.0 0.00 0.0 1.8 1.90 0.0
No. 8 + 11.800 11.800 0.0 0.45 53 0.0 0.00 0.0 1.4 1.60 18.9
No. 9 0.0 0.00 0.0 0.0 0.00 0.0 0.9 115 0.0
No. 10 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.45 0.0
No. 11 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 12 1.1 0.55 0.0 0.0 0.00 0.0 05 0.25 0.0
No. 13 12 115 0.0 0.0 0.00 0.0 0.4 0.45 0.0
No. 13 + 7.000 1.2 1.20 0.0 0.0 0.00 0.0 0.4 0.40 0.0 (3% No.13D¥EFH#R)
No. 13 + 7.000 8.1 4.65 0.0 0.0 0.00 0.0 0.9 0.65 0.0 (3% No.13+10MD#EEHEH)
No. 13 + 10.000 8.1 8.10 0.0 0.0 0.00 0.0 0.9 0.90 0.0
No. 14 15.7 11.90 0.0 0.0 0.00 0.0 0.8 0.85 0.0
No. 14 + 5687 216 18.65 0.0 1.1 0.55 0.0 1.4 1.10 0.0
No. 14 + 10.000 28.1 24.85 0.0 3.1 2.10 0.0 1.3 1.35 0.0
m m3 m3 m3
INE 11.800 5.3 0.0 18.9




EE+T T T % & 5t & £
) 5 BS 96 B J#’c)]#Eﬁll(:t)‘ 71-—7"/?@%'1(4:) B EHE A ‘ ‘
B B OTFMHEE B OE B @ FHNE ¥ E B @ FHNHE B E W @ FHHNE % =
No. 14 + 10.000 28.1 3.1 1.3
No. 15 11.2 19.65 00 419 22.50 00 1.4 1.35 0.0
No. 15 + 10.000 15.1 13.15 00 639 52.90 0.0 1.4 1.40 0.0
No. 16 15.7 15.40 00 495  56.70 0.0 1.4 1.40 0.0
No. 16 + 10.000 234 19.55 0.0 38 2665 0.0 1.3 1.35 0.0
No. 17 12.4 17.90 0.0 0.0 1.90 0.0 0.1 0.70 0.0
No. 17 + 10.000 7.6 10.00 0.0 0.0 0.00 0.0 0.1 0.10 0.0
No. 17 + 10.000 7.7 7.65 0.0 0.0 0.00 0.0 0.1 0.10 0.0
No. 18 9.7 8.70 0.0 0.0 0.00 0.0 0.2 0.15 0.0
No. 18 + 10.000 19.0 14.35 0.0 0.0 0.00 0.0 0.8 0.50 0.0
No. 19 236 21.30 0.0 0.0 0.00 0.0 1.2 1.00 0.0
No. 19 + 7.000 236 23.60 0.0 0.0 0.00 0.0 1.2 1.20 0.0 (3% No. 19D EF#R)
No. 19 + 7.000 0.5 12.05 0.0 0.0 0.00 0.0 0.0 0.60 0.0 (3% No.19+10MDEEEHEMH)
No. 19 + 10.000 05 0.50 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 20 0.0 0.25 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 20 + 10.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
m m3 m3 m3
INE 0.000 0.0 0.0 00




EE+T T T % & 5t & £
s = R P B J#’GJHEﬁIJ(:t)‘ 7]'—7"/#?5‘#'](4:) % T Al ‘
W O OFHEE H E B OB FHEE ¥ E W @ THHE H £ m FHEE =

No. 20 + 10.000 0.0 0.0 0.0
No. 21 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 21 + 10.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 22 0.6 0.30 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 22 + 10.000 114 6.00 0.0 0.0 0.00 0.0 05 0.25 0.0
No. 23 221 16.75 0.0 0.0 0.00 0.0 0.8 0.65 0.0
No. 23 + 10.000 39  13.00 0.0 0.0 0.00 0.0 0.0 0.40 0.0
No. 24 0.3 2.10 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 24 + 10.000 0.0 0.15 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 25 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 25 + 10.000 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No. 26 05 0.25 0.0 0.0 0.00 0.0 0.1 0.05 0.0
No. 26 + 10.000 2.0 1.25 0.0 0.0 0.00 0.0 0.0 0.05 0.0
No. 27 3.8 2.90 0.0 0.0 0.00 0.0 1.2 0.60 0.0
No. 27 + 10.000 16.0 9.90 0.0 0.0 0.00 0.0 14 1.30 0.0
No. 28 250 2050 0.0 0.0 0.00 0.0 2.1 1.75 0.0
No. 28 + 4.890 67 1585 0.0 0.0 0.00 0.0 2.4 2.25 0.0
No. 28 + 9.720 0.0 3.35 0.0 0.0 0.00 0.0 2.2 2.30 0.0
m m3 m3 m3
N 0.000 0.0 0.0 0.0
a8 F 11.800 5.3 0.0 18.9




EHEET T T % E &t E &
) = P B ﬂﬁﬁs(*%iﬁ%ﬁ i) BRAR(WL1.0) BRAR(1 .0§w<g.5) RIR(2.5=W<4.0) %1$(wg4.q)

B OTHNE N OE K E THNE N OE W E THNE N OE M@ THNE R OE MW E TowE B =

No. 6 0.0 0.2 00 0.0 00
No. 6 + 10.000 00 000 0.0 03 025 00 00 000 0.0 00  0.00 00 00 000 0.0
No. 7 00  0.00 0.0 00 0.15 00 00 000 0.0 00 0.0 00 00  0.00 0.0
No. 7 + 10.000 00 000 0.0 00  0.00 00 00 000 0.0 00  0.00 00 00 000 0.0
No. 8 02 0.0 0.0 03 015 00 08 040 0.0 00 0.0 00 00  0.00 0.0
No. 8 + 11.800 11.800 12 070 8.3 06 045 53 05 065 7.7 00  0.00 00 00 000 0.0
No. 9 13 125 0.0 07 065 00 00 025 0.0 00 0.0 00 00  0.00 0.0
No. 10 03 080 0.0 03 050 00 04 020 0.0 00  0.00 0.0 00 000 0.0
No. 11 00 0.5 0.0 03  0.30 00 12 080 0.0 00 0.0 00 00  0.00 0.0
No. 12 00 000 0.0 03 0.0 00 09 105 0.0 00  0.00 00 00 000 0.0
No. 13 00  0.00 0.0 03  0.30 00 07 080 0.0 00 0.0 00 00  0.00 0.0
No. 13 + 10.000 00 000 0.0 10 065 00 1.1 0.90 0.0 00  0.00 00 00 000 0.0
No. 14 00  0.00 0.0 00 050 00 00 055 0.0 00 0.0 00 00  0.00 0.0
No. 14 + 5687 05 025 0.0 03 015 00 00 000 0.0 00  0.00 0.0 00 000 0.0
No. 14 + 10.000 03 040 0.0 00 0.5 00 00 000 0.0 00 0.0 00 00  0.00 0.0
No. 15 00 015 0.0 00  0.00 00 00 000 0.0 00  0.00 0.0 00 000 0.0
No. 15 + 10.000 0.1 0.05 0.0 00 0.0 00 00 000 0.0 00 0.0 00 00  0.00 0.0
No. 16 03 020 0.0 00  0.00 00 00 000 0.0 00  0.00 00 00 000 0.0
m 3 m3 m3 m3 m3
INE 11.800 8.3 53 7.7 00 0.0




EHEET T T % E &t E &
) = P B ﬂﬁﬁs(*%iﬁ%ﬁ i) BRAR(WL1.0) BRAR(1 .0§w<g.5) RIR(2.5=W<4.0) %1$(wg4.q)
B OTHNE N OE K E THNE N OE W E THNE N OE M@ THNE R OE MW E TowE B =
No. 16 0.3 0.0 00 0.0 00
No. 16 + 10.000 02 025 0.0 00  0.00 00 00 000 0.0 00  0.00 00 00 000 0.0
No. 17 00  0.10 0.0 00 0.0 00 00 000 0.0 00 0.0 00 00  0.00 0.0
No. 17 + 10.000 00 000 0.0 00  0.00 00 00 000 0.0 00  0.00 00 00 000 0.0
No. 18 00  0.00 0.0 00 0.0 00 00 000 0.0 00 0.0 00 00  0.00 0.0
No. 18 + 10.000 00 000 0.0 00  0.00 00 00 000 0.0 00  0.00 00 00 000 0.0
No. 19 03 0.5 00 005 003 00 00  0.00 0.0 00 0.0 00 00  0.00 0.0
No. 19 + 10.000 00 015 0.0 00 003 00 00 000 0.0 00  0.00 0.0 00 000 0.0
No. 20 02 0.0 0.0 0.1 0.05 00 00 000 0.0 00 0.0 00 00  0.00 0.0
No. 20 + 9.550 03 025 0.0 00 005 00 00 000 0.0 27 135 00 06 030 0.0
No. 20 + 9.550 04 035 0.0 00 0.0 00 00  0.00 0.0 27 270 00 04 050 0.0
No. 20 + 10.450 04 040 0.0 00  0.00 00 00 000 0.0 27 270 00 04 040 0.0
(3% N0.20+9.55,N0.20+10.45(&No.20+ 10D EF 4 FR)
m m3 m3 m m3 m
INE 0.000 0.0 00 0.0 00 0.0




EHET T T HEEE
) & = P B ﬂﬁﬁs(*%iﬁ%ﬁ i) FRAR(WL1.0) BRAR(1 .0§w<g.5) RIR(2.5=W<4.0) %1$(wg4.q)

BT OTHNE K OB W OE THNE K B W OE THNE R B W E THNE XN B W E Tuwra &k £

No. 20 + 10.450 0.0 15 2.1 3.0 1.9
No. 21 00 000 0.0 17 160 00 21 210 0.0 13 215 00 00 095 0.0
No. 21 + 10.000 00 000 0.0 18 175 00 20 205 00 00 065 00 00 000 0.0
No. 22 00 000 0.0 16 170 00 28 240 00 00 000 00 00 000 0.0
No. 22 + 10.000 00 000 0.0 12 140 00 00 140 00 00 000 00 00 000 0.0
No. 23 00 000 0.0 16 140 00 00 000 00 00 000 00 00 000 0.0
No. 23 + 10.000 00 000 0.0 16 160 00 04 020 00 00 000 00 00 000 0.0
No. 24 00 000 0.0 10 130 00 30 170 00 00 000 00 00 000 0.0
No. 24 + 10.000 00 000 0.0 15 125 00 45 375 00 00 000 00 00 000 0.0
No. 25 00 000 0.0 18 165 00 29 370 00 01 005 00 00 000 0.0
No. 25 + 10.000 00 000 0.0 17 175 00 24 265 00 00 005 00 00 000 0.0
No. 26 00 000 00 03 100 00 00 120 00 00 000 00 00 000 0.0
No. 26 + 10.000 00 000 00 01 020 00 00 000 00 00 000 00 00 000 0.0
No. 27 00 000 00 02 015 00 00 000 00 00 000 00 00 000 0.0
No. 27 00 000 00 04 030 00 02 010 00 00 000 00 00 000 0.0
No. 27 + 10.000 00 000 00 04 040 00 00 010 00 00 000 00 00 000 0.0
No. 28 00 000 00 02 030 00 00 000 00 00 000 00 00 000 0.0
No. 28 + 4.890 00 000 00 02 020 00 00 000 00 00 000 00 00 000 0.0
No. 28 + 9.720 00 000 00 01 015 00 00 000 00 00 000 00 00 000 0.0
m m3 m3 m3 m3 m3
N F 0.000 0.0 0.0 0.0 0.0 0.0
& F 11.800 8.3 5.3 7.7 0.0 0.0




EHEET T T % E &t E &
) = P B ﬂﬁri(*%iﬁ%?l i) B ER(W<1.0) BRER(1 .0§w<g.5) IRER(2.5=W<4.0) Eﬁﬁ:(wg.q)

B OTHNE N OE K E THNE N OE W E THNE N OE M@ THNE R OE MW E TowE B =

No. 6 0.0 0.0 00 0.0 00
No. 6 + 10.000 00 000 0.0 00  0.00 00 00 000 0.0 00  0.00 00 00 000 0.0
No. 7 00  0.00 0.0 00 0.0 00 00 000 0.0 00 0.0 00 00  0.00 0.0
No. 7 + 10.000 00 000 0.0 00  0.00 00 00 000 0.0 00  0.00 00 00 000 0.0
No. 8 05 025 0.0 05 025 00 00 000 0.0 00 0.0 00 00  0.00 0.0
No. 8 + 11.800 11.800 16 105 12.4 00 025 30 17 085 100 00  0.00 00 00 000 0.0
No. 9 20 180 0.0 00 0.0 00 15 160 0.0 00 0.0 00 00  0.00 0.0
No. 10 08 140 0.0 00  0.00 00 09 120 0.0 18 090 0.0 00 000 0.0
No. 11 02 050 0.0 00 0.0 00 00 045 0.0 00  0.90 00 5.1 2.55 0.0
No. 12 00  0.10 0.0 00  0.00 00 00 000 0.0 00  0.00 00 42 465 0.0
No. 13 02 0.10 0.0 00 0.0 00 00  0.00 0.0 00 0.0 00 28 350 0.0
No. 13 + 10.000 02 020 0.0 00  0.00 00 00 000 0.0 00  0.00 00 00 140 0.0
No. 14 05 035 0.0 00 0.0 00 07 035 0.0 00 0.0 00 00  0.00 0.0
No. 14 + 5687 07 060 0.0 03 015 00 16 115 0.0 00  0.00 0.0 00 000 0.0
No. 14 + 10.000 07 070 0.0 08 055 00 0.1 0.85 0.0 00 0.0 00 00  0.00 0.0
No. 15 02 045 0.0 02 050 00 00 005 0.0 00  0.00 0.0 00 000 0.0
No. 15 + 10.000 10 060 0.0 05 035 00 00 000 0.0 00 0.0 00 00  0.00 0.0
No. 16 15 125 0.0 06 055 00 10 050 0.0 00  0.00 00 00 000 0.0
m m3 m3 m m3 m3
INE 11.800 12.4 30 100 00 0.0




EHEET T T % E &t E &
) = P B ﬂﬁri(*%iﬁ%?l i) B ER(W<1.0) BRER(1 .0§w<g.5) IRER(2.5=W<4.0) Eﬁﬁ:(wg.q)

B OTHNE N OE K E THNE N OE W E THNE N OE M@ THNE R OE MW E TowE B =

No. 16 14 05 0.9 0.0 00
No. 16 + 10.000 15 145 0.0 08 065 00 13 110 0.0 00  0.00 00 00 000 0.0
No. 17 12 135 0.0 06 070 00 00 065 0.0 16 080 00 00  0.00 0.0
No. 17 + 10.000 1.1 1.15 0.0 06 060 00 00 000 0.0 12 140 00 00 000 0.0
No. 18 1.1 1.10 0.0 06  0.60 00 00 000 0.0 12 120 00 00  0.00 0.0
No. 18 + 10.000 1.1 1.10 0.0 06 060 00 00 000 0.0 12 120 00 00 000 0.0
No. 19 12 115 0.0 06  0.60 00 0.1 0.05 0.0 00 060 00 18 090 0.0
No. 19 + 10.000 03 075 0.0 00  0.30 00 00 005 0.0 00  0.00 0.0 18 180 0.0
No. 20 04 035 0.0 00 0.0 00 00 000 0.0 12 060 00 00 090 0.0
No. 20 + 9.550 05 045 0.0 00  0.00 00 00 000 0.0 13 125 00 12 060 0.0
No. 20 + 9.550 06 055 0.0 00 0.0 00 00  0.00 0.0 18 155 00 06 090 0.0
No. 20 + 10.450 06 060 0.0 00  0.00 00 00 000 0.0 18 180 00 06 060 0.0

(3% N0.20+9.55,N0.20+10.45(&No.20+ 10D EF 4 FR)

m m m3 m m3 m
INE 0.000 0.0 00 0.0 00 0.0




EHET T T HEEE
) & = P B ﬂﬁri(*%iﬁ%?l i) B ER(W<1.0) BRER(1 .0§w<g.5) IRER(2.5=W<4.0) Eﬁﬁ:(wg.q)

BT OTHNE K OB W OE THNE K B W OE THNE R B W E THNE XN B W E Tuwra &k £

No. 20 + 10.450 0.0 0.1 1.2 0.0 0.7
No. 21 00 000 00 00 005 00 16 140 00 00 000 00 06 065 0.0
No. 21 + 10.000 00 000 00 01 005 00 1.1 135 00 00 000 00 05 055 0.0
No. 22 00 000 00 01 010 00 12 115 00 00 000 00 05 050 0.0
No. 22 + 10.000 00 000 00 05 030 00 04 080 00 00 000 00 05 050 0.0
No. 23 00 000 00 02 035 00 08 060 00 00 000 00 05 050 0.0
No. 23 + 10.000 00 000 00 01 015 00 10 090 00 00 000 00 05 050 0.0
No. 24 00 000 00 00 005 00 15 125 00 00 000 00 05 050 0.0
No. 24 + 10.000 00 000 00 01 005 00 12 135 00 00 000 00 06 055 0.0
No. 25 00 000 00 00 005 00 12 120 00 00 000 00 08 070 0.0
No. 25 + 10.000 00 000 00 00 000 00 11 115 00 00 000 00 08 080 0.0
No. 26 00 000 00 02 010 00 09 100 00 00 000 00 08 080 0.0
No. 26 + 10.000 00 000 00 08 050 00 01 050 00 00 000 00 08 080 0.0
No. 27 00 000 00 08 080 00 00 005 00 00 000 00 00 040 0.0
No. 27 00 000 00 05 065 00 18 090 00 06 030 00 00 000 0.0
No. 27 + 10.000 00 000 00 05 050 00 16 170 00 00 030 00 00 000 0.0
No. 28 00 000 00 06 055 00 12 140 00 00 000 00 00 000 0.0
No. 28 + 4.890 00 000 00 07 065 00 10  1.10 00 00 000 00 00 000 0.0
No. 28 + 9.720 00 000 00 04 055 00 07 085 00 00 000 00 00 000 0.0
m m3 m3 m m3 m3
N F 0.000 0.0 0.0 0.0 0.0 0.0
& F 11.800 12.4 3.0 10.0 0.0 0.0




£+ T (FEEET -5 1) T I # = i+t & &

s 5 P TJHE(:I:)‘ RE (&) iEEL(*%iﬁ%Em) HEERL[W<.0 (D)] iEEL[1.o§w<g.5 (C)]
B O FHNE 3% OE K@ FHNE N OE W E FAWE N E W E THNE K E W B TorE % =

No. 6 0.0 0.0 0.0 0.0 0.0
No. 6 + 10.000 00 000 0.0 00 000 0.0 00 000 0.0 00 000 0.0 00 000 0.0
No. 7 02 010 0.0 00 000 0.0 00 000 0.0 00 000 0.0 00 000 0.0
No. 7 + 10.000 03 025 0.0 00 000 0.0 00 000 0.0 00 000 0.0 00 000 0.0
No. 8 36 195 0.0 00 000 0.0 03 015 0.0 0.1 0.05 0.0 00 000 0.0
No. 8 + 11.800 11800 123 795 9338 00 000 0.0 06 045 5.3 03 020 2.4 00 000 0.0
No. 9 176 14.95 0.0 00 000 0.0 16 110 0.0 06 045 0.0 24 120 0.0
No. 10 00 880 0.0 00 000 0.0 00 080 0.0 00 030 0.0 00 120 0.0
No. 11 00 000 0.0 00 000 0.0 00 000 0.0 00 000 0.0 00 000 0.0
No. 12 00 000 0.0 00 000 0.0 00 000 0.0 00 000 0.0 00 000 0.0
No. 13 00 000 0.0 00 000 0.0 00 000 0.0 00 000 0.0 00 000 0.0
No. 13 + 10.000 02 010 0.0 00 000 0.0 00 000 0.0 00 000 0.0 00 000 0.0
No. 14 04 030 0.0 00 000 0.0 00 000 0.0 00 000 0.0 00 000 0.0
No. 14 + 5687 53 285 0.0 00 000 0.0 03 015 0.0 0.1 0.05 0.0 00 000 0.0
No. 14 + 10.000 44 485 0.0 00 000 0.0 05 040 0.0 03 020 0.0 00 000 0.0
No. 15 06 250 0.0 00 000 0.0 02 035 0.0 00 015 0.0 00 000 0.0
No. 15 + 10.000 28 1.0 0.0 00 000 0.0 03 025 0.0 0.1 0.05 0.0 00 000 0.0
No. 16 72 500 0.0 00 000 0.0 05 040 0.0 0.1 0.10 0.0 00 000 0.0
m m m3 m m3 m3
INE 11.800 9338 0.0 5.3 2.4 00




£+ T (FEEET -5 1) T I # = i+t & &

) - R g PR (L) RE (&) BRLIBEYED) HEERELIW<.0 (D)] HERELI.0=W<25 (C)]
’ B OFHNE B OE BT @E FHONE B OE B @ FHONE B OE KB @ FHONE B OE B @E FowE B =

No. 16 7.9 0.0 0.9 0.2 0.0
No. 16 + 10.000 164 1215 0.0 00  0.00 0.0 06 075 0.0 0.1 0.15 0.0 00 000 0.0
No. 17 208  18.60 0.0 00 0.0 0.0 06 060 0.0 0.1 0.10 0.0 00 000 0.0
No. 17 + 10.000 187 19.75 0.0 00  0.00 0.0 06 060 0.0 0.1 0.10 0.0 00 000 0.0
No. 18 190 1885 0.0 00 0.0 0.0 06 060 0.0 0.1 0.10 0.0 00 000 0.0
No. 18 + 10.000 21.0  20.00 0.0 00  0.00 0.0 1.0 080 0.0 0.1 0.10 0.0 00 000 0.0
No. 19 293 2515 0.0 00 0.0 0.0 13 115 0.0 03 020 0.0 00 000 0.0
No. 19 + 10.000 176 2345 0.0 00  0.00 0.0 06 095 0.0 0.1 0.20 0.0 00 000 0.0
No. 20 80 12380 0.0 00 0.0 0.0 06 060 0.0 0.1 0.10 0.0 00 000 0.0
No. 20 + 10.000 157 1185 0.0 00  0.00 0.0 08 070 0.0 03 020 0.0 00 000 0.0

3 3

m m m m m m
nNE 0.000 0.0 0.0 0.0 0.0 00




e+ T (BT ) T T #% = it & &

s & 5 P TJHE(:I:)‘ RE (&) iEEL(*%iﬁ%Em) HEERL[W<.0 (D)] iEEL[1.o§w<g.5 (C)]
B E THNE K B W E THNE K B M E THNE X B W E THNE XN 2 W E TomE X 2

No. 20 + 10.000 16.3 0.0 0.0 05 0.9
No. 21 140 15.15 00 01 005 00 00 000 00 08 065 00 00 045 0.0
No. 21 + 10.000 153 14.65 00 09 050 00 00 000 00 07 075 00 00 000 0.0
No. 22 178 16.55 0.0 26 175 00 00 000 00 07 070 00 00 000 0.0
No. 22 + 10.000 185  18.15 00 06 160 00 00 000 00 05 060 00 00 000 0.0
No. 23 224 2045 00 05 055 00 00 000 00 07 060 00 00 000 0.0
No. 23 + 10.000 201 2125 00 03 040 00 00 000 00 05 060 00 04 020 0.0
No. 24 187 19.40 00 02 025 00 00 000 00 05 050 0.0 15 095 0.0
No. 24 + 10.000 235 21.10 00 02 020 00 00 000 00 05 050 00 21 180 0.0
No. 25 176 2055 0.0 10 060 00 00 000 00 05 050 0.0 16 185 0.0
No. 25 + 10.000 207 19.15 00 05 075 00 00 000 00 05 050 0.0 14 150 0.0
No. 26 42 1245 00 00 025 00 00 000 00 04 045 00 00 070 0.0
No. 26 + 10.000 54 480 00 00 000 00 00 000 00 04 040 00 00 000 0.0
No. 27 86  7.00 00 00 000 00 00 000 00 05 045 00 04 020 0.0
No. 27 39 625 00 00 000 00 00 000 00 04 045 00 00 020 0.0
No. 27 + 10.000 46 425 00 00 000 00 00 000 00 05 045 00 00 000 0.0
No. 28 58 520 00 00 000 00 00 000 00 04 045 0.0 10 050 0.0
No. 28 + 4.890 55 565 00 00 000 00 00 000 0.0 10 070 0.0 10 1.00 0.0
No. 28 + 9.720 28 415 00 00 000 00 00 000 00 04 070 00 00 050 0.0
m m m3 m m3 m3
N F 0.000 0.0 0.0 0.0 0.0 0.0
& F 11.800 93.8 0.0 5.3 2.4 0.0
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